CMSC 201 - Fall 2023 Midterm 1

Circle your section number and TA.

11 - Anna Pham 12 - Alexander G. 13 - David P. 14 - Rusham B.
15 - Gabe A. 16 - Malcolm D.

21 - Alexander J. D. 22 - Matthew P. 23 - Kelvin Z. 24 - Nathan D.
25 - Khushika Shah 26 - Claire Kim 27 - Ky DeSilva

31 - Adrian Maldonado 32 - Lyna Beraich 33 - Claire Kim 34 - Rodolfo A-R

35 - Raine Gibson 36 - Hannah Oskam 42 - Hikaru B. 43 - Gia O.S.
44 - Hieu T. 45 - Sean H. 46 - Pranav S.

51 - Wojciech L. 52 - Wojciech L. 53 - Papa M. 54 - Drake T.
55 - Hannah Oskam 56 - Leann A. 58 - Niraj D.

Write your name (neatly!) on the line below.

|
Sroane

First Name Last Name

sdonahnue

Student ID, which you use for GL

Undergraduate Honors Statement

In this course, each student assumes the responsibilities of an active participant in UMBC’s
scholarly community, in which everyone’s academic work and behavior are held to the highest
standards of honesty. Cheating, fabrication, plagiarism, and helping others to commit these acts
are all forms of academic dishonesty, and they are wrong.



Multiple Choice: 24 points (2 points each)

Choose the correct answer by clearly filling exactly one circle per problem.

1. Which statement evaluates to True?

O True and (False or False) —7 Trowe AN\ C]:OL\‘SLS —+ talse

@ False or (True and not False) —) Falge o LTVVVL ona T(‘\,\C,B & Trwe
O True and False 5 Fy\se

O not(False or not False) )y o'~ @d\, S& o TT\A&\ > hot (_TVV\OB wta\se
2. Which loop cannot be used to modify the element of a list?
@ for-each (for x in my list) —7 Us> tlew~entS  (puss by v\ e

O for-i (for i in range(len(my_list))) oy noexes C\)O‘LSS b\{ F&QQ(U"@
(O while (while i < len(my _list))

3. Which variable is legal in Python (will not cause a syntax error)?
O 32number

@ hello-there PO g OTs o SYMPOlS G sfavt g uac pNe
O §perl,is,g00d

O JlgoodVariable
4. When running a while loop, in order to avoid an infinite loop you must:

(O Set all variables to zero. =% O -~
O Make sure none of the variables inside the loop changes. _g s N N g e e
@® Change a variable or take user input to see if the while condition changes.
(O Not do any input inside of the loop. —> LOV\F% QJ\\{ ireel Lva\/\'\‘
5. To check if an integer x is divisible by 7 you would use:
O2%2==0 0/o 15 mpdnlns 7 AivEs Fe O SOV
O T%x==
® 2N 7T==
O7//2==
6. Why is / different from //?

(& .WO\,]V\C)\/@( 'S Zexd, it Q\@aw\y d\@]Slb\C\

(O Because x // y gives back a remainder rather than the quotient.

7s inaer A vision
N WTVW\,

(O Because // is the symbol for a comment.
(O Because // is the symbol for modulus.

@ Because // is integer division rather than floating point division.

(See Jecyure vores
for £, ik o )

2 opevoHovi >



10.

11.

12.

If you know how many times you want to iterate, which of the following will you (most likely)
use?

@ For loop. 17 For  loops ¥ werate  fiwoudn Iise 0T Manqe Wit
(O While loop. preclererminecy tQV-QW\
O If statement. —> dows nor wera e Wi 005 L runy A (Asuwt\\y
O Print loop. =9 voxr o real ‘1’\(\\(\3 aNnEngun Nuawmber R 4wn
(based on lbodiecanrn (ondhihroN

How many times will this loop execute for = in range(3,12,2)?
09 Stary N

Stof  step
O 3 (inonse (@0 (%R
O7
@5 3,0, 7,9 \\.

When “Zero” is cast to an integer, what happens? . ,
(« oo Al ng
Zexo S a S

(T - L Vo

(O The integer that results is 0 as an integer.
(O The program will hang (not terminate but not crash).
@ An error will occur which terminates the program. N as (/” e evvol
(O The integer that results is 0.0 as a float. LA ("E@FO\\B & enwor

Which of the following is True?

) ) s ) ), Q\/\ WL\
@ 'Le’ in "hello world / 4 e ( AL >\»\A&H"‘:5
O3in[l,2,5] = pno, 3 wnov N WS
O ’sam’ in ‘swarm’ _y, o, lggwa | ok TN swata

1 ) 7 X8 \
O 0in Zero’ — o | UNY (0> Mo vy S-W\V:j Zero'

At most how many elif statements will execute in a single if statement?

—_—

O cie |

® ! ol ooy ove  wpill ran \

O o0 TS Mt @ X A

O -3
How many elif statements can you write in a single if statement?

OO0

817 BUY yow (an KO0l Os Wy as \[Ow\d like: ~

® As many as you can type in.

)



13.

14.

15.

16.

17.

List Manipulation: 6 points (2 points each)

For the following three problems consider this list:
robots = ["dalek”, "data”, "R2D2” " K%SO”, ”Marvin”, "HAL 90007 ]
\

o
For each of the problems here, write what is output in the space provided. If nothing is output,
write “NO OUTPUT” and if there is an error of any kind from SyntaxError, IndexError,
ValueError, just write “Error.”

Each part should be considered independently, meaning you should restart from
the starting list every time. b - 4 =2

print (robots [5], robots[len(robots) - 4])
LG At en

HAL 4000 RZ2D <2

robots.remove ("R4’)—Y \O+ TN Wot
print (robots)

EycoxY

robots.append(’Bender’) - oLokak e Q/\Q/VV\U/'\P/ \
print (len(robots)) 1y 5 vov? one kov\ﬁe/“' (5“V 7

~

Creating Boolean Expressions: 4 points (2 points each)

Write an expression that is True if and only if a string food contains ‘cheese’ (as a substring)
and drink is not ‘water’.

' A Lo QC}\ Ox\(‘d &‘(\WV\\(—. \_; e Wk

AN

N\
" onee st

Write an expression that is True if and only if x is at least 30 and y is between 1 and 10
(inclusively).

Y 73 30 and (y7=\aro y <= 1O)



Short Answers: 6 points (2 points each)

18. What are the two possibilities that can happen based on different inputs of x?

x = int (input (’Input int: 7))
while x > O:
print (’hello’)

g v 7 O A7 run LoreveS

(\OOP oo O\\wm\15 AN

Ol oW ISe  Never POV 0\‘(\\1‘%\\(3

19. Explain what happens when we replace an if with an elif statement instead. What is the
difference between the two? For instance consider the code below:

num = int (input(’>>’))
if num > 10:

print (’num is larger than 10°’)
if num > 20:

print (’num is larger than 20°’)

ol W\ Wkl the iR ferr® ot
EXOns) S0 T Wi\ oy priny- one oC T
56X, \116\/\*’ NOW wtA R st ents
PRy WRR WO ran (€A MV = 305,

20. Fill each blank with the a word conveying the meaning of the argument in the range.

range( | gacr | choe | ovef )
range( st <vof )

range( o )




21.

22.

23.

Order of Operations: 3 points (1 points each)

Evaluate the following expressions.

Let x =4,y = 5, then:

3 x (x +y) <y ** 2 - x
— 1 —J

5
\_«_.O.I_J | |
71 < 2\

True and (False or not Falsg) -+ Trne m@ Trwg)

Tl

not [] and not (5 or ’a’)
R
W\SQJ\{ Tru\-\*\(\\7

nOt False dnd Mo T

TT\A\Q/ my\a\ SFm\ sl

lFmsuS




Code Evaluations: 6 points (2 points each)

Evaluate each code snippet below and answer the question asked. You may assume that the
code is syntactically correct. Make sure that you pay attention to the formatting of the output
when you write down your answer. Mark your final answer clearly by boxing it.

24. When the code is run, what is the output?

halving = 50 ¢

while halving > O: ZS
halving //= 2 k‘“*%w
print (halving) A 1SION

| 2.
Awide by two W 2,
RNV w\j > O | g N l
eAh  Hvne O
25. When the code is run, what is the output?

s = ’hello’
e
n = 15 )&7 ?(}\,\9

if n == 20 and s == ’hello’; \/ 1S s CZMO\/\ 0 4wmes EA

print ("Both are true.")

elif == 15: 9 Tvwn
print ("15 is equal to 3 times 5")
elif s == ’hello’ Q—Pﬁ»ex‘ ‘%N\Sd' LOV\QU'\“O\/\

lprint("Well Hello There") A \\-‘?[@\\%/éﬂﬁt b @a\,d(’/'g
else:

print ("0bi Wan Kenobi, You’re my only hope") e rest ave 5&]()‘

26. When the code is run, what is the output?
for i in range(16, 2, -4):

print (i) -\\] \Bq X’P&

LYY sof &
\G
\
po)
_4»




[\
-3

0 3 O Ul i~ W N

— = =
= W N = OO

15
16
17
18
19
20
21
22
23

Debugging: 12 points (1 point per line, 2 points per correction)

The code below has 6 errors. The errors may be syntax errors or logic errors, consider all errors
that occur in one line as a single error; examine the code carefully to find them. Indicate each
of the errors you find by writing the line number and correction in the space provided below.
Each error can be solved with a single fix, and should not be counted twice. Comments do

not contain errors. The direction of the string symbols are not an error.

. You must find and correct 4 of the errors. (You cannot fix more than 4 errors!)

We will remove all of the bad symbols, which are in the
bad_symbols 1list from the strings in the_list. We will
count the number of removals and report them.

# the lists do not contain errors

bad_symbols = I:n!u’ ||©n, )#;, )$)’ ;%7, ;'\)’ 1&;, )*;,
)(J’))}’J’),)‘)]
the_list = [’hello’, ’&(*Byte’, ’Kilobyte!’, ’S$u@s!h#i’]
# start here
new_list = [] ~
removed_symbol = 0 SO coNY
. . . Ww\12 \/\ﬂ D
for the_string in the_llsEZDQ
: - L \\\f\
new_string = e VO
for x in range(len(the_string)): EEREN\CN“CX
if the_stringl(x bad_symbols:
w_string += the_string|(x

: f A\ -
e11f.fv5wow\f)\\oe(%@l%2 oeds 4o \me  ¥T

Temoved_symbol

' ANV,
new_list.append@ e Vo |

Xy I e NP - SR
print(’, ’.join new_list ) S\V\N f)

print (f’We removed {removed_symbol} bad symbols’)

Line Num. | Your correction for that error.

' S NCAAYe Condon  (not 1)
| 7 WS e\Se, NO¥ K
|6\ WS T YO Swve e w LOUL‘(\-\'

20 APPRNO  new— ST, NOF e L sing




28.

Programming Problem Neo. 1: 7 points

Input a list of integers (you are allowed to assume that the user will only type integers) until

the user types zero. Output a list where the even numbers are squared from what was input
but the odd numbers are left alone.

For instance if you input the numbers 21, 13, 8, 3, 2, 6, 17, 0 then the program will output
21, 13, 64, 3, 4, 36, 17].

if

__name__ == ’__main__":
AAM_ior = L1 ) o)
NSer _xr = AN LW\‘PW*LB\ \ g

| — . 5%[/(0\\[&/
W\, Weee WY — O
P et W T 0/ 2. == O

&%
U 35 o\\DPW\& (wspe — i ZB
e\ oS¢,
\ US4 \ﬂ’\‘\
\/\u\\m~\\9r. g\f\{lﬂv\/\&\ ( K Q\;b

WSeC _ VDY = {(\%JQ«\N\‘ b)\ st aaloo

. \J <X
PN (e — V19D 4O \iS



Programming Problem No. 2: 7 points

29. Write a program after the beginning code that takes the string list and determines the string
\ with the maximum number of ”a” characters. For instance if the user enters ”archibald”
"aardvark” ”sandal” "stop” then aardvark will be printed since it has the most ”a” characters.
Notice we havé already converted the strings to lower case so you don’t have to worry about
that.

if __name__ == ’__main__"’:
string_list = []
s = input("Enter a string: ")
while s != "stop":
string_list.append(s.lower ())
s = input ("Enter a string: ")
# begin your code here

PO o\ sy = » G— e pty 6‘\4\\\/5)
may —as = —|\ t— —\ so e
iy s V\j w W\

s N e, — TSt
PO( 5);\(\\% Y Sk(\tﬂ be. o A ‘/VQ)(
o - LomnNY =0

N Y ‘ A
Por WAaner s SYEUOY CovMr A

5 enee == abt CutTent sy

a~u9\l\“* += 0\

\ e, N
W S - i we ned

' v
-~ - (JO\/\‘(\—Q’ Y\/\OS_\_’ oy S / Sawv
6 N S*’\‘(\\‘Vj +O

WY — As S

i a_cov
WAL =N

- as - ST 2 SHO0R

pcm"r (W\o\x _ O\S___S\—\"B

10



